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100 Questions

Que. 1 Read the question and answer the following questions:

The economic and labour crisis created by the COVID-19 pandemic could increase global
unemployment by almost 25 million, according to a new assessment by the International Labour Organization
(ILO). However, if we see an internationally coordinated policy response, as happened in the global financial
crisis of 2008/9, then the impact on global unemployment could be lower.

The preliminary assessment note, COVID-19 and the world of work: Impacts and responses, calls for urgent,
large-scale and coordinated measures across three pillars: protecting workers in the workplace, stimulating the
economy and employment, and supporting jobs and incomes. These measures include extending social
protection, supporting employment retention (i.e. short-time work, paid leave, other subsidies), and financial and
tax relief, including for micro, small and medium-sized enterprises. In addition, the note proposes fiscal and
monetary policy measures, and lending and financial support for specific economic sectors.

Based on different scenarios for the impact of COVID-19 on global GDP growth, the ILO estimates indicate a
rise in global unemployment of between 5.3 million (“low” scenario) and 24.7 million (“high” scenario) from a
base level of 188 million in 2019. By comparison, the 2008-9 global financial crisis increased global
unemployment by 22 million. Underemployment is also expected to increase on a large scale, as the economic
consequences of the virus outbreak translate into reductions in working hours and wages. Self-employment in
developing countries, which often serves to cushion the impact of changes, may not do so this time because of
restrictions on the movement of people (e.g. service providers) and goods.

Fall in employment also means large income losses for workers. The study estimates these as being between
USD 860 billion and USD 3.4 trillion by the end of 2020. This will translate into falls in the consumption of
goods and services, in turn affecting the prospects for businesses and economies. Working poverty is expected to
increase significantly too, as “the strain on incomes resulting from the decline in economic activity will
devastate workers close to or below the poverty line”. The ILO estimates that between 8.8 and 35 million
additional people will be in working poverty worldwide, compared to the original estimate for 2020 (which
projected a decline of 14 million worldwide).

Which options best fits the given blank in the passage "However, if we see an internationally coordinated policy
response, as happened in the global financial crisis of 2008/9, then the impact on global unemployment could be
lower."

significantly
obsessed
aggravated

mitigating

I .

none of these

Correct Option - 1

Que. 2 What could be the most similar in meaning to the word "restrictions''?

1. liberation

2. limitation

3. freedom

4. permission

5. all of the above
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Correct Option - 2

Que.3 What is the antonym of the word 'increase'?
aggravate

provoke

1

2

3. heighten
4. decrease
5

none of these

Correct Option - 4

Que. 4 What can be inferred from the passage?

Underemployment
The passage talks about unemployment due to Covid-19.
Covid-19

maximum employment

M e

none of these

Correct Option - 2

Que. 5 What does the fall in employment mean?

large income losses for workers
rise in inflation
no pay for employees

decline in economy

A S

None of these

Correct Option - 1

Que. 6 According to a new assessment by the International Labour Organization (ILO), unemployment could
globally increase by?

20 million
22 million
23 million

24 million

M .

25 million
Correct Option - §
Que. 7 The ILO estimates indicate a rise in global unemployment of between 5.3 million and 24.7 million from

a base level of 188 million in which year?

1. 2020
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2. 2021
3. 2019
4. 2022
5.

none of these

Correct Option - 3

Que. 8 What is the synonym of the word 'retention'?

1. dispossession
2. surrendering
3. transferal

4. possession

5. none of these

Correct Option - 4

Que. 9 Directions. Read the following sentence and determine whether there is any error in it. The error,
if any, will be in one part of the sentence. If the sentence is error-free, select ‘No error’ as your
answer.

Many a doubt on History/(A) were cleared in the remedial class,/(B) thus proving the maximum/(C) utility of
such initiatives. (D)

DN A W N =
o w»

No error

Correct Option - 2

Que. 10 Read the sentence to find out whether there is any error in it. The error, if any, will be in one part
of the sentence. The number of that part is the answer. If there is no error, the answer is (5).
Ignore errors of punctuation, if any.

I don't want you(A)/ to give that number to anyone unless(B)/ it's not an emergency(C)/, you understand? (D)/.
No error. (E)

[, T SO O T NS I
Mmoo P QW

Correct Option - 2

Que. 11
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Read the sentence to find out whether there is any error in it. The error, if any, will be in one part of the
sentence. The number of that part is the answer. If there is no error, the answer is (5). Ignore errors of
punctuation, if any.

More levels of protection(A)/ are necessary(B)/ when children is involved(C)/ in clinical trials.(D)/ No error. (E)

[, T SO O T NS TR
mw» OO0

Correct Option - 1

Que. 12 Read the sentence to find out whether there is any error in it. The error, if any, will be in one part
of the sentence. The number of that part is the answer. If there is no error, the answer is (5).
Ignore errors of punctuation, if any.

I intend (A)/ to go straight back home,(B)/ but I sort of wandered (C)/ inside a bookstore. (D)/ No error. (E)

hn oA W =
Mg »> WO

Correct Option - 3

Que. 13 Directions. Read the following sentence and determine whether there is any error in it. The error,
if any, will be in one part of the sentence. If the sentence is error-free, select ‘No error’ as your
answer.

Every buyer or every seller have (A)/ to abide by the rules (B)/ set by the company (C)/ following the
governmental guidelines. (D)

[, TR SO 'S T NS IR
OO w >

No error

Correct Option - 1

Que. 14 Directions: The given question has one blank indicating that something has been omitted. Choose
the word for the given options that could fit in the blank correctly.

The whole scheme was to fail from the beginning.

1. destined

2. uncertain
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3. decided
4. remote

5. erroneous

Correct Option - 1

Que. 15 Directions: The given question has one blank indicating that something has been omitted. Choose
the word for the given options that could fit in the blank correctly.

Its current was very and could take away big tree trunks.

compelling
powerful
powerless
gentle

AR A

persuasive

Correct Option - 2

Que. 16 Directions: The given question has one blank indicating that something has been omitted. Choose
the word for the given options that could fit in the blank correctly.

Chandrakanth was shocked when he that the leg had lost sensation.

1. unaware
2.  thought

3. realized

4. knew

5

attained

Correct Option - 3

Que. 17 Directions: The given question has one blank indicating that something has been omitted. Choose
the word for the given options that could fit in the blank correctly.

Over the centuries, human beings have and tamed wild animals
1. helped
2. domesticated
3.  supported
4. saved
5. apprehend

Correct Option - 2

Que. 18 Directions: The given question has one blank indicating that something has been omitted. Choose
the word for the given options that could fit in the blank correctly.

Some parents are not in of a co-educational system
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AR S

Favor
side
thinking
prefer

judgement

Correct Option - 1

Que. 19 In the following sentence, a part of the sentence is underlined. Below are given alternatives to the

underlined part, which may improve the sentence. Choose the correct alternative. In case no

improvement is needed, choose the alternative that indicates 'No improvement'.

Covid treatment in this hospital is very low expensive that they had to sell off their land to pay for it.

M .

quite expensive and
too expensive for
so expensive but
more expensive

No improvement

Correct Option - 1

Que. 20 In the following sentence, a part of the sentence is underlined. Below are given alternatives to the

underlined part, which may improve the sentence. Choose the correct alternative. In case no

improvement is needed, choose the alternative that indicates 'No improvement'.

The entire town was set on the ears when it was announced that a giant megastore would be closing itself.

A

Set by the eyes
Set by the ears
Set at the ears

Set on the eyes

No Improvement

Correct Option - 2

Que. 21 In the following question, a sentence is given with four words marked as (A), (B) (C), and (D).

These words may or may not be placed in the correct order. Four options with different

arrangements of these words have been provided.

The acquired(A) of the collection(B) of social statistics by the state is in itself much older, but it practice(C) its
modern form towards the end of the eighteenth century(D).

AR

B-D
B-C
C-D
A-C
A-D
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Correct Option - 4

Que. 22 In the following question, a sentence is given with four words marked as (A), (B) (C), and (D).
These words may or may not be placed in the correct order. Four options with different
arrangements of these words have been provided.

This society(A) knowledge or familiarity with prior(B) is both an advantage and a disadvantage(C) for
sociology, the discipline(D) that studies society.

1. B-C
2. A-B
3. C-D
4. B-D
5. A-C

Correct Option - 2

Que. 23 In the following question, a sentence is given with four words marked as (A), (B) (C), and (D).
These words may or may not be placed in the correct order. Four options with different
arrangements of these words have been provided.

Smita was jobless(A) happy with the conditions(B) of the women in her district(C) as most were poor and
never(D), so she planned to do something

1. A-B
2. A-C
3. B-C
4. A-D
5. C-D

Correct Option - 4

Que. 24 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).
These words may or may not be placed in a correct order. Four options with different
arrangements of these words have been provided. Mark the option with the correct rearrangement as the

answer. If no rearrangement is required, mark option (5) as your answer.

Taylor’s husband repent(A) to continues(B) for cheating in the past(C), but she isn’t sure that his apologies(D)
are sincere.

I. A-C
2. C-D
3. A-B
4. B-C
5. No arrangements

Correct Option - 3

Que. 25 In the following question, a sentence is given with four words marked as (A), (B), (C), and (D).
These words may or may not be placed in the correct order. Four options with different
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arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.

More police officers(A) are needed to protest(B) the populace(C) calm during the keep(D) march.

1. A-C
2. B-D
3. A-B
4. C-D
5. No arrangements

Correct Option - 2

Que. 26 Rearrange the following five sentences/group of sentences (A), (B), (C), (D), and (E) in the proper
sequence to form a meaningful paragraph; then answer the questions given below them.

(A) Bud-break — which is when trees leaf out — has undergone a change.

(B) This is why understanding the genetics of bud-break helps scientists modify or select crop varieties that can
be more resilient to the climate threat.

(C) Several trees initiate bud-break too early or too late, which affects the harvest.
(D) Changing climate has transformed the time spring unfolds in front of us.

(E) Spring, for example, arrived earlier than usual in Kashmir this year due to higher temperatures in February
and March.

Which of the following should be the FIRST sentence after rearrangement?

I. A
2. C
3. D
4. B
5. E

Correct Option - 3

Que. 27 Which of the following should be the SECOND sentence after rearrangement?

A

AR S

B
C
D
E
Correct Option - 1

Que. 28 Which of the following should be the THIRD sentence after rearrangement?

I. A
2. B
3. D
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. C
5. E
Correct Option - 4

Que. 29  Which of the following should be the FOURTH sentence after rearrangement?

1. A
2. B
3. C
4. D
5. E

Correct Option - 5

Que. 30  Which of the following should be the LAST sentence after rearrangement?

I. A
2. B
3. C
4. D
5. E

Correct Option - 2

Que. 31 What will come in the place of the question mark ‘?” in the following question?
V6561 + V289 x 2 +45% of 80 = 2 + 1

1. 151
2. 148
3. 149
4. 150
5. None of these.

Correct Option - 4

Que. 32 What will come in the place of the question mark ‘?” in the following question?
25% x 676 - 10% x 810 + 60 ~6=2 x 70 + 5

1. 35
2.7

3. 16
4. 19
5. 23

Correct Option - 2
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Que. 33 What will come in the place of the question mark ‘?’ in the following question?

8888 + 22 x 4 - 316 = 22 + 400

1. 900
2. 30
3. 35
4. 800
5. 40

Correct Option - 2

Que. 34 What will come in the place of the question mark ‘?” in the following question?
240 + 6 + V529 x 17 =2+ 150% of 80

1. 311
2. 310
3. 309
4. 312
5.  None of these.

Correct Option - 1

Que. 35 What will come in the place of the question mark “?’ in the following question?
V400 x 2 -30 =256 - 12 +?

M e
w o o &~

36

Correct Option - 2

Que. 36 What will come in the place of the question mark ‘?” in the following question?

99-92=92+9
1.
2. 3
3. 3
4. 81
5.

None of these

Correct Option - 2
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Que. 37 What should come in place of the question mark (?) in the following question?
12x54+26%x3-25="?

1. 110
2. 111
3. 112
4. 113
5. 114

Correct Option - 4

Que. 38 What should come in place of the question mark (?) in the following question?

32x 15+ 11 x12-22=212

1. 14
2. 16
3. 18
4. 20
5. 24

Correct Option - 4

Que. 39 What will come in the place of the question mark ‘?” in the following question?
35% of 520 + 33.33% of 216 + 45% of 120 =7

1. 890
2. 375
3. 308
4. 400
5. 775

Correct Option - 3

Que. 40 What will come in the place of the question mark ‘?” in the following question?

20 - 10% =41 - 92
1. 12
2. 10
3. 7
4. 11
5.9

Correct Option - 4

Que. 41 What should come in place of the question mark '?" in the following number series?
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6,5,8,21,7, 395

1. 100
2. 110
3. 90
4. 80
5. 120

Correct Option - 4

Que. 42 What will come in place of the question mark (?) in the following number series?
163, 150, 134, 112, 81, ?

1. 58
2. 42
3. 38
4. 30
5. 26

Correct Option - 3

Que. 43 What should come in place of the question mark '?' in the following number series?
3,4,10,33,136,7,4116

1. 580
2. 685
3. 680
4. 612
5. 548

Correct Option - 2

Que. 44 What should come in place of the question mark '?" in the following number series?
61, 70, 88, 124, 196, 340, ?

1. 508
2. 488
3. 628
4. 688
5. 704

Correct Option - 3

Que. 45 What should come in place of the question mark '?" in the following number series?
18000, 3000, 600, 150, 50, 2, 25
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1. 50
2. 25
3. 125
4. 5

5. 375

Correct Option - 2

Que. 46 Direction: Read the following data carefully and answer the following questions:

There are two villages A and B in a certain district. The population of village A is 35% less than the
population of village B. Total population of both villages is 8250. The ratio between adults and children in two
villages is 20: 13. The difference between the number of adults and children including two villages is 1750. In
village A, the number of adults is 60% more than the number of children. While in village B, the number of
adults is 1.5 times the number of children.

Find the difference between the number of adults in village B and the number of children village B.

1. 1200
2. 800
3. 1500
4. 1000
5. 900

Correct Option - 4

Que. 47 What is the ratio between the number of children of village A and Village B?

[, T SO O T NS I
N B~ O W
0 3 W oo W

Correct Option - 2

Que. 48 Find the average adult’s population of two villages.

1. 3000
2. 2200
3. 2500
4. 2000
5. 1800

Correct Option - 3

Que. 49 The number of children in village A is approximately what percent of the total population of village A?
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I. 39%
2. 3%%
3. 25%
4. 31%
5. 44%

Correct Option - 1

Que. 50 The adult’s population of two villages is approximately what percent more than the children population
of both villages?

58%
62%
66%
54%
48%

I .

Correct Option - 4

Que. 51 A man is moving with a speed of 16 km/h. After every km, he takes a rest of 4 minutes. How much
time will he take to cover a distance of 40 km?

1. 5 hrs 8§ min
2. 5 hrs 6 min
3. S5hrs 10 min
4. Shrs

5. 6hrs

Correct Option - 2

Que. 52 A boat takes 3 hours to cover 120 km downstream and takes 6 hours to cover the same distance
upstream. Then what distance it will cover running for 4 hours in still water?

1. 125km
2. 122 km
3. 120 km
4. 118 km
5. 115km

Correct Option - 3

Que. 53 A sum of Rs. 48,000 was lent out at simple interest and at the end of 2 years and 3 months the total
amount was Rs. 55,560. Find the rate of interest per year

1. 7%
2. &%
3. 9%
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4.
5.

10%

Answer not known

Correct Option - 1

Que. 54 The difference between the ages of Aditya and his mother is 20 years. After 5 years, the age of his

A

mother will be twice Aditya's age that time. Find the present age of Aditya.

12 years
15 years
10 years
20 years
18 years

Correct Option - 2

Que. 55 A and B can fill a tank in 30 and 40 hours while C can drain the tank in 60 hours. All three starts filling

AR

and after 20 hours A is closed. Find the time (in hours) taken to fill the tank.

35
30
40
50
45

Correct Option - 3

Que. 56 A 300 meters long train is running at a speed of 108 km/hr. In what time will it pass a 900 meters

I .

bridge?

20 sec
60 sec
40 sec
45 sec

None of these

Correct Option - 3

Que. 57 Amit started a business with Rs. 80000 and after few months Sumit joined him with Rs. 48000. If the

join.

AR S

profit at the end of the year is divided in the ratio 5 : 1, then find after how many months did Sumit

10 Months
3 Months
6 Months
4 Months
8 Months
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Correct Option - 5

Que. 58 A and B can do a work in 40 days and 25 days respectively. They start the work together, but A left
after some days and B finished the remaining work in 12 days. After how many days did A leave?

1. 8
2. 10
3. 12
4. 14
5.

None of these

Correct Option - 1

Que. 59 From the set of odd numbers below 50, one number is chosen. Find the probability that it is a multiple

of 3.

1. 8725
2. 9/25
3. 10/25
4. 6/25
5. 7725

Correct Option - 1

Que. 60 There is a 120 L mixture of vinegar and water. The ratio of vinegar to water is 7 : 5. A shopkeeper
mixes a certain amount of water in order to make the ratio of vinegar to water 5 : 6. The new quantity
of water is what percentage of the original quantity of water in the mixture?

1. 180%
2. 156%
3. 145%
4. 165%
5. 168%

Correct Option - 5

Que. 61 Directions: Read the following table carefully and answer the questions given below.

The following table shows the total number of people (men and women) who visited the zoo on four
days, i.e., Sunday, Tuesday, Friday, Saturday and it also shows the percentage of men who visited the zoo on the
above mentioned days.

Total number
Percentage of
Day . of people
men visited L
visited
Sunday 20% 250
Tuesday 35% 100
Friday 75% 120
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[Saturday [65% 1300 |

Find the total number of women who visited the zoo on Sunday, Friday and Saturday.

AR S

135
435
335
235

None of these

Correct Option - 3

Que. 62 What is the average number of women who visited the zoo on Tuesday and Saturday?

nok wh =

75
65
95
85
55

Correct Option - 4

Que. 63 Find the ratio of men who came on Sunday to the total number of men who came on Friday and

A

Saturday together.

10: 57
57:10
47 : 20
20 : 47

None of these

Correct Option - 1

Que. 64 The number of men who visited the zoo on Sunday and Tuesday together is approximately what

A

percent more or less than the number of women who visited the zoo on Friday and Saturday together?

37% more
37% less
47% more
47% less
None of these

Correct Option - 2

Que. 65 Find the difference between the total number of women who visited the zoo on Sunday and Saturday

together and the total number of men who visited the zoo on Tuesday and Friday together.
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1. 150
2. 160
3. 140
4. 180
5. None of these

Correct Option - 4

Que. 66 Directions: Study the following information to answer the given Questions:
Seven boxes K, D, S, M, G, C and N are kept one above the other, not necessarily in the same order.

The box of N is three boxes above the box of K. The box of G is the topmost box. The box of C is just above the
box of N. The box of D is just below box of S. There is one box between the box of D and the box of M.

Which is the bottommost box?

I. D
2. N
3. S
4. C
5. M

Correct Option - §

Que. 67 How many boxes are above the box of K?

1. One
2. Two
3. Three
4. Four
5. Five

Correct Option - 5

Que. 68 Which among the following box is just above C?

1. None
2. N
3. G
4. S
5. K

Correct Option - 3

Que. 69 How many boxes are there between M and N?

1. One
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2. Two
3. Three
4. Five
5. None

Correct Option - 3

Que. 70  Which of the following pair does not belong to the group?

[, T SO O T NS I
AN O oL

Correct Option - 3

Que. 71 If1 is added to each even digit and 1 is subtracted from each odd digit in the number 632745, then how
many digits are repeated in a new number?

1. None

2. One

3. Two

4. Three

5.  More than three

Correct Option - 1

Que. 72 Directions: In the question below are given two statements followed by two conclusions numbered I

and II. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

All Wi-Fi is the Internet.
Only a few Wi-Fi are Routers.
Conclusions:

I. Some Wi-Fi are Routers.

II. Some Routers are not the Internet.

Only I follow

Only II follow

Both I and II follow
Either I or II follows

Neither I nor II follows

M e

Correct Option - 1
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Que. 73 Directions: In the question below are given two statements followed by two conclusions numbered I

and II. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

Some Photos are Cameras.

Only a few Cameras are Balloons.
Conclusions:

I. Some Photos are Balloons.

II. No Photos are Balloons.

1. Only I follow

2. Only II follow

3. Both I and II follow

4. Either I or II follows

5. Neither I nor II follows

Correct Option - 4

Que. 74 Direction: In the question below are given two statements followed by two conclusions numbered I

and II. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

Only a few Pens are Mobile.
No Mobile is Bag.
Conclusions:

I. Some Pens are Bag.

II. Some Pens are not Bag.

Only conclusion I follows
Only conclusion II follows
Both conclusion I and II follow

Either conclusion I or II follows

A

Neither conclusion I nor 11 follows

Correct Option - 2

Que. 75 Directions: Study the information given below carefully and answer the questions that follow.

Point A is 8 m west of B. Point C is 9 m south of B. Point D is 5 m east of C. Point E is 10 m north of
D. Point F is 2 m south of A. Point G is 4 m East of F.

What is the direction of A with respect to D?

1. North west
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2.  North east
3.  South

4. South East
5.

None of these

Correct Option - 1

Que. 76 What is direction of E with respect to B?

1. North west

2. North east

3. South

4. South East

5. None of these

Correct Option - 2

Que. 77 What is the direction of G with respect to D?

1. North west

2. North east

3.  South

4. South East

5. None of these

Correct Option - 1

Que. 78 Directions: Read the following information carefully and answer the question given below it:

Few person are sitting in a row facing North. Six person sit between L and J.Number of person
between M and P is same s the number of person between M and L.Two person sit between P and R. 3 persons
are sitting between M and N. K is third to the right of N. K is second to the left of P. Only three person sit to the
left of L. R is sitting at one of the end.

How many persons are sitting in the row?

1. 12
2. 26
3. 25
4. 18
5. None of these

Correct Option - 3

Que. 79 What is the position of J with respect to M?

1. 2nd to the left
2. Immediate right
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3. Immediate left
4. 2nd to the right
5. None of these

Correct Option - 1

Que. 80 How many persons are sitting between M and P?

[, T SO O T NS I
O 0 3 O W

Correct Option - 4

Que. 81 How many such pairs of letters are there in the word "SKYWAY" each of which has as many letters
between them in the word (in both forward and backward direction), as they have between them in
English alphabetical series?

1. None
2. One
3. Two
4. Three
5. Four

Correct Option - 2

Que. 82 Directions: In this question, relationship between different elements is shown in the statements. The
statements are followed by two conclusions.

Statements:
V>K>Z<L=A<T
Conclusions

.Z<T

ILA<V

Neither conclusion I nor II True
Either conclusion I or II True
Only conclusion I True

Only conclusion II True

M e

Both conclusion I and II True

Correct Option - 3

Que. 83 Directions: In the following question assuming the given statements to be true, find which of the
conclusion among given some conclusion is/are definitely true and then give your answers
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accordingly:
Statement: P>R>T=U<Q<S>W>Z=E

Conclusions:

I P>Q.

) Q=E.
1. Only Conclusion I follows
2. Only Conclusion II follows
3. Both I and II follow
4. Either I or II follows
5. Neither I nor II follows

Correct Option - §

Que. 84 Direction: In the following questions assuming the given statements to be true, find which of the
conclusion among given some conclusion is/are definitely true and then give your answers
accordingly:

Statement: A>L=T<R<H>K

Conclusions:
I.H>L
IL.K>T
1. If only conclusion I follows
2. If only conclusion II follows
3. [Ifeither conclusion I or conclusion II follows
4. If neither conclusion I nor conclusion II follows
5. If both conclusion I and IT follow

Correct Option - 1

Que. 85 Directions: Study the information carefully and answer the questions given below.

There are seven persons who are working in the same company on different designations and the
person who is working on that designation is named A, B, C, D, E, F, and G but not necessarily in the same order.
They have different designations starting from the clerk, officer, Assistant Manager, manager, Assistant General
manager, General manager, Director. Director is the topmost post of the company and the clerk is the lowermost
post of the company.

The number of designations above C is the same as the number of designation bellow C. B’s and F’s designations
is not near to C. The number of person designations between F and B is three. D is at the topmost position. A is
senior to G. Three persons sit between A and G. F’s designation is not near to A.

Which of the following person is Officer?

B

1
2.
3.
4

oo >
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5. G

Correct Option - 3

Que. 86 How many designations are there between B and C?

1. None

2. One

3. Two

4. Three

5.  More than three

Correct Option - 2

Que. 87 C is on which position?

1. Director

2. Assistant General manager
3. Manager

4. Officer

5. Clerk

Correct Option - 3

Que. 88 Which of the following statement is true regarding G?
I) G is working at the topmost rank in the company.
IT) There is only one designation between G and E.

IIT) G's designation is just below Officer.

Only 1 is true

Only II is true

Only III is true

Both I and II is true
Both IT and IIT is true

M .

Correct Option - 5§

Que. 89 Four of the following five are alike in a certain way and hence form a group, which of the following
does not belong to the group?

1. DA
2. BC
3. EG
4. CF
5. AG
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Correct Option - §

Que. 90 Ifin a certain code language, QUANT is written as PVZOS, which word would be written as FIGHT?

1. EJSIT
2. EGSIS
3. EJFIS
4. SIRLS
5. TSEIS

Correct Option - 3

Que. 91 Direction: Study the following information carefully to answer the given questions:
MOP692RQA4ENUIGF23LTIS5HY4DZ6I11J1

If all the vowels are dropped then which element will be eleventh from the right end?

AR
— = m »n

N

Correct Option - 4

Que. 92 How many such consonants are there in the above arrangement which is immediately preceded by
vowel and followed by a number?

[, T SO U'S T NS I
A O W = N

Correct Option - 1

Que. 93 Which element is tenth to the left of eighteenth element from the right end?

1. 'Y
2. 9
3. Z
4. R
5. None of these

Correct Option - 2
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Que. 94 What will be the product of the tenth element from the left and the seventh element from right?

I. 8
2.

3. 10
4. 20
5. 16

Correct Option - 5§

Que. 95 Which element is sixth element to the left of the twentieth element from the left end?

DN A W N =
o m s =

None of these

Correct Option - 1

Que. 96 Direction: Read the following information carefully and answer the questions that follow:

Ten people - A, B, C, D, E, P, Q, R, S and T are sitting in two rows with five persons in each row, not
necessarily in the same order. P, Q, R, S and T are sitting row 1 facing south and A, B, C, D and E are sitting in
row 2 facing north. Each person in row one faces a person from the second row.

Two people are sitting between E and B, who is sitting to the right of E. The person who is facing E is the
immediate neighbour of R. S sits third to the left of R. Two people are sitting between P and T, who is facing E.
Only one person is sitting between D and C, who is not sitting at any extreme end of the row. A is the immediate
neighbour of both E and C.

Who is facing C?
1. T
2. S
3..Q
4. R
5. P

Correct Option - 3

Que. 97 Who is sitting to the immediate left of the person who is facing B?

T

AN
00 " »
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Correct Option - 2

Que. 98 Which pair is sitting at the extreme ends of the row facing north?

1. AandC
2. AandE
3. DandB
4. EandC
5. EandD

Correct Option - 5§

Que. 99 How many people are sitting between R and S ?

1. One
2. Three
3. Four
4. Two
5. None

Correct Option - 4

Que. 100  Which pair of people are sitting exactly in the middle of the rows?

1. RandA
2. CandQ
3. BandP
4. DandS
5. TandE

Correct Option - 2
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